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3-14. Determine the stiffness kr of the single spring such that 3-17. Determine the mass that must be supported at A and the
the force F will stretch it by the same amount s as the force F angle 6 of the connecting cord in order to hold the system in equi-
stretches the two springs. Express k7 in terms of the stiffness k,  librium.

and ks of the two springs.
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3-15. The motor at B winds up the cord attached to the 65-Ib
crate with a constant speed. Determine the force in cord CD sup-
porting the pulley and the angle 6 for equilibrium. Neglect the size
of the pulley at C.

Prob. 3-17

#3-16. The cords BCA and CD can each support a maximum load
of 100 Ib. Determine the maximum weight of the crate that can be
hoisted at constant velocity, and the angle 6 for equilibrium.

3-18. The 500-lb crate is hoisted using the ropes AB and AC.
Each rope can withstand a maximum tension of 2500 Ib before it
breaks. If AB always remains horizontal, determine the smallest
angle 6 to which the crate can be hoisted.
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